Dror Bar-Natan: Academic Pensieve: Projects: BabyDoPeGDO: Testing-201222.nb 2020-12-23 15:21:38

*

1= {ns €5 Ys X}
ouf-j= {Y, X, Ny &}

In[<]= Mj j-k
1hs =my 5,1 // My,3,
rhs =my,3,5 // My 2,1
lhs = rhs

ouf-]= E(i,§}-(k) {1, Yk (771 + 77j> -nj &1 + Xk (§i + §j) , €Series[0, @] ]

ouf- )= Eq1,2,335011 [1s Yama +Y1 M2+ Y13+ X1 E1 -2 &1 -n3 &1+ X1 &2 - 13 E2 + X1 3, €Series[0, 0]]
ou-J= Eq1,2,335011 [1s Yama+Y1 M2+ Y13+ X1 E1 -2 &1 -n3 &1+ X1 &2 - 13 E2 + X1 &3, €Series[0, 0]]
out/-]= True

mi-J= R1,2 R3,a

1

ouf - Ey501,2,3,4) [1: (=1+T) X2 (Y1-Y2) + (—1+ ; Xa (Y3 -Ya)»

1 1
eSeries[e, AT Ry e xaXayiYat = (1-3T) X2y1ys -
2 2

(-1+T) X3Xqy3 (1-T)Xjy5 XsXqysys (-1-T) Xzz;y3Y4H

T 21’ T? 271’

Inf-]:= (R1,z E3,4) // My 3,1

(1-T) Xay1 (-1+T) XaY4
ouf-1= E(y511,2,4) [1, (-1+T) Xy + ————+ (1-T) Xp ¥ + —

, 5 (1-T)xaxayi (-1+T)xiyi
(-1+T) x3y1+ N + N +X1 X2 Y1Y2 +
T 2T

(1-3T) 32y, y (-1+T) Xa2Xay1Y2 XaXgY1ya (1+T) XinﬂH
- 1Y2+ - +
’ T T? 271’

N |

eSeries [0,

N |-

w1 {Z[@1, Z[1], Z[2]} // Column

€Series |0,
l 1-3T 2 7(1*T)X4 73 1-T 2 2
5 ¢ ) X3Y2 (Y1 +Ysr1)) + X2 (Xg X1y | Y2 (Ya+Yspay) -5 ( ) X3 (Y1 +Ys$r11)
outf-J= (-1-T) X3 ya (Y1+Ys(3)) X (X1+Xg(3)) ¥a (Y1 +Ys(3)) B (1-T) x} (Y1+Y513_)2 B (-1+T) Xg (X1+Xg(3)) (y1+)’$m)2
273 G 271 ik

eSeries[0, 0]
eSeries[0, 0]

In[~]= M2, 42

ouf-J= Ez,41512y [1, Y2 (M2 +Na) —Na &2+ Xz (€2 + &4) , €Series[0, 0]]

nf}= Ry,2Rs,4 // My 351 // My 4,5 // CF

Out[+]= E{)%{I,Z) [1, 0, GSer‘ies[@, 0]]
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)= 22
Symbol
Global'z
Definitions
Z[0@] = €Series |0, —% (1-T) [x2+ (1’? X2 Xg 2] ZY% B SMH]) A Sl (X;:ﬂ“)zy% + % (1-3T1

Z[1] = eSeries[0, 0]
Out[«]=
Z[2] = eSeries [0, 0]
Z[rvk_RVK] := Module[{todo, n, rots, ¢, done, st, cx, €1, i, j, k, k1, k2, k3}, {todo, rots} = L
Z[K_] := Z[RVK[K]]

Full Name Global'Z

A

3= CF@Z[Knot[3, 1]]

T

“2+3T-2T7%+T73
Out[+]= E{)%{Q}[ ) @, eSeries {0, }]

1-T+T? T-2T2+3T3-2T4+T°

—2+3T-2T%+T73
Inf]:= Factor‘[ ]
T-2T2+3T3-27%+T°

(-1+T) (2-T+T?)

outf+]=
T(1-T+1%)

T-2T2+2T73
Inf+]:= // PowerExpand

\/(1—3T+5T2—4T3+2T4)2

T-2T2+2T73
Inf]:= // Factor
1-3T+5T2-4T73+2T°
T
Oout[s]r —————————
1-T+T2
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